P2#FB 2019FE 15 HERE
§2 F¥rE

H2.1
1) x*-144=x"-12* =|(x +12)(x —12)

(2) 1627 —49y* = (4x)* —(Ty)* =|(4x + Ty)(4x - Ty)|

H2.2
o) (ﬁ—\@)(ﬁﬂﬁ):(ﬁ)z —(\B)Z —7-3=[4]

@) (2\5—\/3)(2\E+\E)=(2\E)2 —(\E)Z —4x3-5=[1]

H2.3

1

A s x(V7-B) A(NT-B)
\/?+x/§_(f f)x(f—f)_ A
(V7) 8] =73
2 2 (2\/§+1) \/5(2\/§+1)
22 -1 (2V2 - )x(2\/§+1) 7

(ZJ—) —1%=

o) =7-43

—2x2+42 =[4+2]

@)

x2-1=7



4

R R R

3-8 (3-43)x(3+B) 6 6

2

3 —(\/5)2:9—3:6

s o ) A6 g

Vo2 (Vou2)x(o-2) A 2

(] ] -2

(o}
\)

L2 ez Vo YorV2-(V6-2)
3-V3 Y62 2 2 2

V6112 -6+2 22
) 2 "2 -L42]

11 X(5‘@) 5-/22

5+@_(5+@)x(5—@)_ 3

52 —(«/5)2:25 22-3

1 _ 1 (@ \/E) J22 19
Voz 19 (Vaz+ho) < (V22 —19) 3

(\/i)z —(\/ﬁ) =22-19=3

1 1 x(\/ﬁ—ll) J19 -4

V194 (V1944)x(Vi-4) 3

(19)2-4%=19-16=3

1 1 5-,/% %?ﬁ+)ﬁ;_4

) 1 _
S + + = +
5+v22 224419 V19 +4 3 3

_5—4_
3 |3

2



H2.4

31
@ 120°0-97°_ (120+97)(120-97)  2A7x 28 _
91 -70>  (91+70)(91-70)  Ie1x21 |21

7

@ #-m+1) ={n+m+D}{n-m+D}=—-{n+m+D)} THZH b,
S=(1%-2%)+(3" —4%)+---+ (99" ~100°)
=—(1+2)—(3+4)—--—(99+100)
=—1+2+3+4+---+99+100)

= (1+100)x 100+ 2 =[-5050]

H2.5
V' + R PEETHLEL, EnEm(bbAAME) LB L,

n’ +92=m’
92=m’-n’
(m +n)(m _n) =09 eeeeennniniii @
T, B marn, m-nlZOWT, LRSI EICHEET D,
QLY m+n Em-nZRHEETHY . mnlXEEZ»bm+n>0, m+n>m—n
LT, m+u>m-n>0
s (m+n)+(m—n)=2m IXMEETZ0 D, m+n, m—n OEAFIT—E
L7zn->T, OXV,

m+n 9 46 |2
m-n 127 V4
ThHHING,

(m,n) =(24,22)
U LEEY., kb nitln=22 cb 5,



H2.6
@), @), AW THNDOAABCIZEWTH, MANLIEABCIZEA LEHROEE H &7
%L, AB=AC LY BH=CH &72%, AH=x L <,

(1) AABH 28BN T, A
X AT AOERLY
X2 +22 =T 72DT,
x* =7 -2 =45=9x%5
x>0k0 . x=3J5
Yo, AABC=%XBC><AH B C

=%><4><3\/5=

@) AABHIZBWT, A
30°,60°,90° D XA D
FA31:4/3: 272D T, Yl
2:x=1:\/§ 2 x N
s ox=243 o 2 2 &
Yo7, AABC=%><BC><AH B4 ¢

=%><4><2\/§=

(3) AABH 23T,
307,60°,90° D xHH D
AN 1:/3:272 DT,

6:x:\/_'1
T %_i 23 "1z

LT, AABC=§XBCXAH

= 3x12x2V3 =[12,3]



